~
/ SCHEMA  SOLORNE  ESANE A2. 6. 2014 2 PARTE

4) X= 2Cost -
6‘ {8____ et + € [oT) {9=C9>bu:[2 nm—_t:L

w

= 4 Swfds = 4 be.—.)?\\i*lfc)\dt
oM o '

o

i 5
Lf S 2ccst P O] di = - 4 S cest NV G-TRUH otk = O
L

f Q.Li.l_\
> ped Swnrmoj[(q
delle {L.Mﬁo&
% Mapekb /
‘?'Lc)= (- 23t +gc,oa:c\ 7' (o)) = { 4 seuPt + seo2t | =

>> lY Pc)] ‘141-500:;6 \[_Q—S&u’z

w
T & i
e g g1 o= %ﬁ S YLD S;WU;AJC
mme \/Z
= T;l__F 535&1&. Vs- “SSwlto{tr. SM{JB_ st dic
L.
T,
3 sk Y arscoat de - \SQAH;#\ oz
Z= rmhu >-8= 5 S Ja Leu\qw\ Weoshm
s },LU,\’\LL

B 1 (a0
= 2.}_&& l@mhqdw - @@uz 39%( “)2



